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.  

  G Réponds  

 q  Ecri$. 
7 

8 

Il y a                  marguerites. 

 

il y a                  tulipes 

 

il y a                   roses  

 

En tout il y a                                 f…… …………...….    

Écris une égalité :  

 G Calcule  

2 + 1 +0 =  3 + 2 +1 =  1 + 0 +3 +2 =  

2 + 2+ 2 =  3 +3+ 1 =  2 +2 +3+ 1 =  

0 +3 +2 +1 =  0 +1 +2 =  3 + 2 +2 +0 =  

2 +1 +0 +2 =  2 +1 +1 +1 =  3 +3 +0 +2 =  
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 n Dessine comme Patti. 

 

 

 

 

 

6 doigts  9 doigts  10 doigts  

 G Calcule. 

6 - 3 =  

4 - 1 =  

6 - 2 =  

 G Calcule. 

5 - 3 =  4 - 2 =  

 G Dessine, barre etc alcule. 

6 - 1 =  5 - 2 =  


